HYDRAULIC SUPPORT CLAMPS | jHEEZISEIZSI

CSP

B 37 $5 §1

CSP HYDRAULIC
SUPPORT CLAMP

EmFIE
*SXEN R T AERAREBIRES, #MELES
BYTH3E R,

KMIBIRERER . BHLLSESARR BN BENNELE
BM5 IBEAFBAR, ERIASIERILETTERER.
TREZHFEEMNRELR. (BH#EE%/E0.3 ~0.5MPa)
KEAECERE: JRkERHEERNERIRE, #E
i,

RIEE EFHEL:

TEERYNIRRES T, USMEGRER LR T IHE
BUERELL, EEERREREFRIENZREDEMNR
EER, (OEERELIBENSIE T,

BE EHA

EERNAIRRES LA, STHNENEER LRTHNES
M MRS EIERE, RS MBI SRERISRE BN
EER, BEERELURBESIE M.

EEHERENENIRF

A i w3
5 0.2
CSP-26 7 04
10 1
5 04
CSP-30 7 1.6
10 34
5 0.2
CSP-36 7 2
10 24
S 0.6
CSP-45 7 34
10 4

RIS AR REI4mm ~ SmmZ S AdEiE

071 | /M EH K %)

0.2
0.6
1.2
04
18
34
0.2

24
04
32
42

B B

CSP-30BLP CSP-30BLK

FEATURES

High support force: The clamping force between the piston rod
and the clamp cover is increased, thus higher workpiece support
force is produced.

Cutting fluid cleaning countermeasures: In order to prevent
improper actuation caused by high-pressure coolant and chip dust
intruding into the internal structure, air cleaning can be performed
in the vent hole when replacing the workpiece.

Air cleaning requires a special-purpose pneumatic circuit.
(Recommended cleaning air pressure 0.3-0.5MPa)

Common piping base: It can be installed with the same Japanese
cylinder specifications in the current market and has
interchangeability.

Hydraulic pressure rising type:

The initial state of the piston rod is falling. The supply oil pressure
makes the piston rod rise and stop after getting into contact with
any position of the supply part. At the same time, the clamping
force acting on the clamp cover by oil pressure is applied to the
piston rod, so that the piston rod can firmly support the workpiece.

Spring rising type:

The initial state of the piston rod is rising, and the workpiece is
placed on the piston rod and lowered to a certain distance due to
the weight of the workpiece. At this time, the clamping force acting
on the clamp cover by supply oil pressure is applied to the piston
rod, so that the piston rod can firmly support the workpiece.

Unit:kgf

5 6 7
0.2 0.2 0.2
0.6 0.6 0.6
12 12 1.2
04 04 04
16 1.6 16
34 3.6 3.6
0.2 0.2 0.2
22 2 2
24 24 24
04 04 04
34 34 32
44 42 42

MR THZISIRIENR

800

§ 700 Csp-45
:; g 600
= £ 500
@ 7 400 CSP-36
ﬂg—) 300
& % CSP-30

2 200 CSP-26

100 |
0
2 25 3 4 5 6 7
HE (MPa)
Oil pressure (MPa)
XAERTEFREEFRE FHSEFI.

FTBEIE A ORDERING INDICATION
f5: CSP-30BLK(H)

CSsP Z5%| Series CSP

30 HEISME M26x1.5
Oil cylinder
M30x1.5

external diameter

A: TEEE EFHE

B ElType B: R LR (1)
L [E%3& Pressure {KEE7MPa

K: K Type
K k=, Format P: P Type

H TEEEES

Piston spring force

MRCER SR
H: 53828 (FTRRBRIRRZR

MR 2805 SPECIFICATION

THEH (i

B grviee) w HEGE EEEDC EESTE SSERE) SEEHEN  RENE

WORKPIECE SUPPORT FORCE
MODEL  (WHEN OIL PRESSURE IS 7MPA)

SRS SRR

30 CSP-36
CSP-45
25 CSP-26
T 20
2
Tt / CSP-30
3 5 15
<
(=R
i < 10
"e /
o
5
0
0 100 200 300 400 500 600 700
&fF (kgf)
Load (kgf)
KABZRAETHEETMPalf4 FHIEFREE T EL.
M36x1.5
M45x1.5

A: Spring rising type
B: Hydraulic rising type
(standard)

Low pressure 7MPa

No mark: Standard type

EEZAA))  H: Strong spring (please call for consultation before ordering)

ERRE HE

OIL CYLINDER  RISING SPRING ~ PISTON ROD STROKE ~ MAXIMUM WORKING ~ MINIMUM WORKING ~ ENSURE OVERPRESSURE OPERATING Quality

(kgf) FLOW (am)  FORCEX2. (kgf) (mm) PRESSURE (MPa)  PRESSURE (MPa)  -RESISTANT (MPa)  TEMPERATURE (C) (ko)
CSP-26 200 0.5 02~04 6.5 7 2.5 10.5 0~70 0.2
CSP-30 300 0.7 04~06 8 7 2.5 10.5 0~70 03
CSP-36 400 0.8 03~05 8 7 2.5 10.5 0~70 04
CSP-45 700 2.3 03~06 10 7 2.5 10.5 0~70 0.7

fEFifAS . SEEYLHERER HEEMRISO-VG32)

KIFGSHE I B AT B (RN 4 7 (50570, 250 PriE RIS sz
BN EZRI R BRI &R0 SELA L AR R SR ILRCHI ST 61
FREGL,

X2EER LB ENNEEFRESRAE, ZESEEERIEH
PRI, EERFEEMAEE—ERE T LTHES hR2EE.

Applied fluid: Ordinary mineral oil-based hydraulic ail (equivalent to 1SO-VG32)

X1 When the supporting oylinder and clamping cylinder are used opposite
each other in order to make the support force sufficient, the support force of
the supporting cylinder should be more than 15 times that of the clamping
o/linder and the cutting load. Please choose the type-matching supporting
¢ylinder and damping cylinder.

X2: The numerical value of the rising spring force of the piston rod represents
the spring design value. This value will produce certain deviation due to the
sliding resistance and spring characteristics of piston rod, so the rising spring
force is the reference value.

PNEUMATIC & HYDRAULIC CLAMPS | 072



CSP-ALK;HEESHSEI /MR T TEl

g on
(FEERIETER) oF ?E%
|
15°
BREK ‘
fa)
@)
o0
<
)
0F-8.1 OREIEB
P e
\ \
T
BEE
‘l\
\ /
W
ZHFLINTE
124K
BAOT o413 %2
C1 U__%
(- ‘ ORUBECK3
: . C0.2
gz —
21 328 ;
\
Max. R0.4 ‘
- HEEALC1
Max. @S Max. oP

073 | & i E L R 5!

@FA+0.05 SR50

o
&
o

ORYBIEA \ O
| L
7 | o)
2L | o T
|
I
JFE -~
Q-Q
FREIE:

X1 HERFLVER AR, BEEEIDSANE.
B EEERNEIREPIER,

X2 LSRR AR EHEREE BN T3 .2SLLT.
X3 MR BB ECERARZEF LA,

NOTE:

X: Vent hole must be open to the atmosphere, and
attention should be paid to prevent coolant, chip dust
and other intrusions into the cylinder body interior.

2. The maximum surface roughness of the bottom of
the installation hole shall be processed below 3.2S.

X3: The attached O-ring EC should be installed in the
installation hole.

CSP-ALKGHBESTIFFI /MU R G R LEZPAII TR IR

B4 Model No CSP-26ALK
A 482
B 57
C 63
D 72.5
%]3 10
oF 243
G 84
H 24
) (BEIRHER) 8
K (ATBEEXIRE) M26X1.5
L (ABEEXIRIE) M6X1
%)\ 95
N (#ER) 8
P 26
@S 75
T 24.5
U 9
OFA 45
FB 15
FC 3
FD 75
OFE 35
ORYEEA (FUFE EEHs70) S5
ORUEEB (FigHE fEREHs90) AS568-013
ORUEEC (FISEE TEEHs90) AS568-020

FREIE:

1. FEwREES, SAITIHEEEEREISIETH, BRERIES,
F2RIEEFE, REOLEHE, FHLERMHI0LRE, BRICIIREE
WENREEEAR, SHENFERENE.

2. BFESFHIEEER, AN MREEEFIEREFE.

3. WMROHERIERER, FHLSRIR FNORERE, FrEEER
HEthORBERY, EBRERAALEIHEEHE.

4, BETHREBRTHIERT, FREHKEREETY, SEEITH
WIRFAIRS,

5 SRIERERERE, BUEERE, SAINGENIEENL

6. MRERE LTHREIRR, SENEEEEETHRHRAENRS, I
FEEEEMERARE, MESERETHHEERESTAEE, BT
HEIR, FERBERREEHNGRREEEN RS ERE, LIEE EF
ENEISEIEO.S ~ 1L E, IHERESERET M MREHEEGRERE
BRNER.

7. E(EFRFIESR0.1MPaLATAIFE MR EREER. WRRIRIRT
BhiEs, EiEEEREAEaL.

Unit:mm
CSP-30ALK CSP-36ALK CSP-45ALK
51.7 49.7 59.2
62 58 71
69 65 78
81 77 92
12 15 16
282 342 43.2
94 94 9
27 32 41
10 13 13
M30X1.5 M36X1.5 M45X1.5
M8X1.25 M10X1.5 M10X1.5
11.5 12.5 12.5
10 11 11
3 3 3
9 9 9
28.5 345 435
11 13 16
6 7.8 7.8
19 1.9 19
4 4 4
43
S6 S8 S8
AS568-014 AS568-014 AS568-015
AS568-022 AS568-026 AS568-030
NOTE:

1. Be sure to install the cap. Otherwise, the workpiece wil not be able to
support the workpiece in contact with the spring. When the user makes the
cap, please refer to the Cap Detailed Drawing and set O-ring groove. Please be
sure to use the attached O-ring. Otherwise, foreign bodies such as coolant wil
intrude into the cylinder body and cause abnormal operation and other faullts.
2. The Company does not guarantee the correct action of the piston rod
when the user makes the rising spring by himself.

3. If the O-ring is damaged or lost, please refer to the specifications of O-ring
in the catalogue, and do not change other O-ring sizes arbitrarily. If necessary,
please contact our Company.

4. In the case of light and thin workpiece, please fix the workpiece temporarily
according to the demand, otherwise the workpiece will be jacked up.

5. The retumn of cleaning air pressure will cause the piston rod to be unable to
reset if air is supplied all the time.

6. If the piston rod rising speed is too fast, it will cause the phenomenon of
rebound when the piston rod contacts the workpiece, and damp at the
rebound position, which wil cause the gap or impact between the piston rod
and the workpiece, leading to the damage of the internal parts. Please adjust
the rising speed of the piston rod through one-way flow control valve so that
the rising action time is more than 0.5-1 second, and confirm that there is no
gap and impact between the piston rod and workpiece before putting into use.
7. Please use a flow control valve with a one-way valve under the opening
pressure below 0.1MPa. If the opening pressure of the valve is too high, the
piston rod cannot be reset when released.

PNEUMATIC & HYDRAULIC CLAMPS | 074



CSP-BLK;HESZISEIMEIRTE

oE i
AL £
((EEIRTER)
i
15°
HRETK ‘
fa)
O
on
<
0
—d
0 : =
aF-0.1 ORYEEB
s ey
\ \
T
PR I —_ &i
S — ’l\
| /
W
TEIMTE
124K
BAOT o413 %2
C1 S
(- ‘ ORUBECK3
é é C0.2 |
21 328 ;
i
Max. R0.4 ‘
— gL
Max. @S Max. oP

075 | & it B &1 R 5

@FA+0.05 SR50

ORYBIEA \ O
| L
$EL o g
—_— | L
|
I
IOFE ~
Q-Q
FREIE:

X1 HERFLVER AR, BEEEIDSANE.
B EEERNEIREPIER,

X2 LSRR AR EHEREE BN T3 .2SLLT.
X3 MR BB ECERARZEF LA,

NOTE:

X1: Vent hole must be open to the atmosphere, and
attention should be paid to prevent coolant, chip dust
and other intrusions into the cylinder body interior.

2. The maximum surface roughness of the bottom of
the installation hole shall be processed below 3.2S.

%3: The attached O-ring EC should be installed in the
installation hole.

CSP-BLKHESTIBT /MU R R eI TR IR

1% Model No CSP-26BLK
A 482
B 57
C 63
D 66
43 10
oF 243
G 84
H 24
J (EEREES) 8
K (ATEERXIZE) M26X1.5
L (EEEXIZEE) M6X1
oM 95
N (#E28) 8
oP 26
@s 75
ot 245
U 9
OFA 45
FB 15
FC 3
FD 75
OFE 35
OB!EIEA (FUSIE F@EHs70) S5
ORUEEB (FiSHR EREHs90) AS568-013
OBEEC (SiSHR MEEHs90) AS568-020

FREIE:

1. FEwREES, SAITIHEEEEREISIETH, BRERIES,
F2RIEEFE, REOLEHE, FHLERMHI0LRE, BRICIIREE
WENREEEAEE, SEEH RS,

2. BFESFHIEEER, AN MREEEFIEREFE.

3. WMROHERIERER, FHLSRIR FNORERE, FrEEER
HEthORBERY, EBRERAALEIHEEHE.

4, BETHREBRTHIERT, FREHKEREETY, SEEITH
WIRFAIRS,

5 SRIERERERE, BUEERE, SAINGENIEENL

6. MRERE LTHREIRR, SENEEEEETHRHRAENRS, I
FEEEEMERARE, MESERETHHEERESTAEE, BT
HEIR, FERBERREEHNGRREEEN RS ERE, LIEE EF
ENEISEIEO.S ~ 1L E, IHERESERET M MREHEEGRERE
BRNER.

7. E(EFRFIESR0.1MPaLATAIFE MR EREER. WRRIRIRT
BhiEs, EiEEEREAEaL.

Unit:mm
CSP-30BLK CSP-36BLK CSP-45BLK
51.7 49.7 59.2
62 58 71
69 65 78
73 69 82
12 15 16
28.2 34.2 432
94 94 9
27 32 41
10 13 13
M30X1.5 M36X1.5 M45X1.5
M8X1.25 M10X1.5 M10X1.5
115 12,5 12.5
10 11 11
3 3 3
9 9 9
28.5 345 435
11 13 16
6 7.8 7.8
19 19 19
9 9 9
4.3 5 5
S6 S8 S8
AS568-014 AS568-014 AS568-015
AS568-022 AS568-026 AS568-030
NOTE:

1. Be sure to install the cap. Otherwise, the workpiece wil not be able to
support the workpiece in contact with the spring. When the user makes the
cap, please refer to the Cap Detailed Drawing and set O-ring groove. Please be
sure to use the attached O-ring. Otherwise, foreign bodies such as coolant wil
intrude into the cylinder body and cause abnormal operation and other faullts.
2. The Company does not guarantee the correct action of the piston rod
when the user makes the rising spring by himself.

3. If the O-ring is damaged or lost, please refer to the specifications of O-ring
in the catalogue, and do not change other O-ring sizes arbitrarily. If necessary,
please contact our Company.

4. In the case of light and thin workpiece, please fix the workpiece temporarily
according to the demand, otherwise the workpiece will be jacked up.

5. The retumn of cleaning air pressure will cause the piston rod to be unable to
reset if air is supplied all the time.

6. If the piston rod rising speed is too fast, it will cause the phenomenon of
rebound when the piston rod contacts the workpiece, and damp at the
rebound position, which wil cause the gap or impact between the piston rod
and the workpiece, leading to the damage of the internal parts. Please adjust
the rising speed of the piston rod through one-way flow control valve so that
the rising action time is more than 0.5-1 second, and confirm that there is no
gap and impact between the piston rod and workpiece before putting into use.
7. Please use a flow control valve with a one-way valve under the opening
pressure below 0.1MPa. If the opening pressure of the valve is too high, the
piston rod cannot be reset when released.

PNEUMATIC & HYDRAULIC CLAMPS | 076



CSP-ALPHESTHSFISME R T

CSP-ALPHESTIZHIMUR I R LEZPAIN TR IZER

oE o 2
L &g
((E=IETER)
|
\
30°
BBEIK
\ o)
()
[aa]
<
G
0 < -
oF-0.1 ORUBIEB
T
o E
’l\
V
ZERFAIMTE
12K
BAOT o413 %2
C1 U__%
Q < ‘ ORJBECK3
: . C0.2
£ 3 =4
21 328 ;
\
Max. R0.4 ‘
] HemFx
Max. @S Max. oP

077 | &M E L R 5!

w@ FA+0.05 SR50
|
ORUEEA \ O
| L
$EL o g
—_— | L
|
I
IOFE ~
Q-Q
FREIE:

X1 HERFLVER AR, BEEEIDSANE.
B EEERNEIREPIER,

X2 LSRR AR EHEREE BN T3 .2SLLT.
X3 MR BB ECERARZEF LA,

NOTE:

X1: Vent hole must be open to the atmosphere, and
attention should be paid to prevent coolant, chip dust
and other intrusions into the cylinder body interior.

2. The maximum surface roughness of the bottom of
the installation hole shall be processed below 3.2S.

%3: The attached O-ring EC should be installed in the
installation hole.

5485 Model No CSP-26ALP
A 49
B 57
C 63
D 725
QE 10
OF 243
G 84
H 22
J ((EEIEHER) 8
K (ATBEEXIZIE) M26X1.5
L (ATBEEXIZIE) M6X1
oM 95
N (EE8) 8
oP 26
s 75
a1 245
U 9
OFA 45
FB 1.5
FC 3
FD 75
OFE 35
OFZEIEA (FtRHE [EEHs70) S5
OFZEEB (FiKEE TEEHs90) AS568-013
OFZEIEC (FiSHE FEEHs90) AS568-020

FREIE:

1. FEwREES, SAITIHEEEEREISIETH, BRERIES,
F2RIEEFE, REOLEHE, FHLERMHI0LRE, BRICIIREE
WENREEEAEE, SEEH RS,

2. BFESFHIEEER, AN MREEEFIEREFE.

3. WMROHERIERER, FHLSRIR FNORERE, FrEEER
HEthORBERY, EBRERAALEIHEEHE.

4, BETHREBRTHIERT, FREHKEREETY, SEEITH
WIRFAIRS,

5 SRIERERERE, BUEERE, SAINGENIEENL

6. MRERE LTHREIRR, SENEEEEETHRHRAENRS, I
FEEEEMERARE, MESERETHHEERESTAEE, BT
HEIR, FERBERREEHNGRREEEN RS ERE, LIEE EF
ENEISEIEO.S ~ 1L E, IHERESERET M MREHEEGRERE
BRNER.

7. E(EFRFIESR0.1MPaLATAIFE MR EREER. WRRIRIRT
BhiEs, EiEEEREAEaL.

Unit:mm
CSP-30ALP CSP-36ALP CSP-45ALP
54 48 60
62 58 71
69 65 78
81 77 92
12 15 16
282 342 43.2
94 9.5 94
24 30 36
10 13 13
M30X1.5 M36X1.5 M45X1.5
M8X1.25 M10X1.5 M10X1.5
11.50 12.50 12.5
10 11 11
3 3 3
9 9 9
285 345 435
11 13 16
6 7.8 7.8
19 19 19
9 9 9
43 5 5
S6 S8 S8
AS568-014 AS568-014 AS568-015
AS568-022 AS568-026 AS568-030
NOTE:

1. Be sure to install the cap. Otherwise, the workpiece wil not be able to
support the workpiece in contact with the spring. When the user makes the
cap, please refer to the Cap Detailed Drawing and set O-ring groove. Please be
sure to use the attached O-ring. Otherwise, foreign bodies such as coolant wil
intrude into the cylinder body and cause abnormal operation and other faullts.
2. The Company does not guarantee the correct action of the piston rod
when the user makes the rising spring by himself.

3. If the O-ring is damaged or lost, please refer to the specifications of O-ring
in the catalogue, and do not change other O-ring sizes arbitrarily. If necessary,
please contact our Company.

4. In the case of light and thin workpiece, please fix the workpiece temporarily
according to the demand, otherwise the workpiece will be jacked up.

5. The retumn of cleaning air pressure will cause the piston rod to be unable to
reset if air is supplied all the time.

6. If the piston rod rising speed is too fast, it will cause the phenomenon of
rebound when the piston rod contacts the workpiece, and damp at the
rebound position, which wil cause the gap or impact between the piston rod
and the workpiece, leading to the damage of the internal parts. Please adjust
the rising speed of the piston rod through one-way flow control valve so that
the rising action time is more than 0.5-1 second, and confirm that there is no
gap and impact between the piston rod and workpiece before putting into use.
7. Please use a flow control valve with a one-way valve under the opening
pressure below 0.1MPa. If the opening pressure of the valve is too high, the
piston rod cannot be reset when released.

PNEUMATIC & HYDRAULIC CLAMPS | 078



CSP-BLP;HESZISEI /MR TE

oE o <
L L2
((EEEER)
\
30°
124K
fa)
O
[aa]
<
U]
0 < .
oF-0.1 O/EEB
T
S
'l\
TEAMTIE
2K
BAOT o413 %2
C1 U__%
Q < ‘ OFYEEC3
C0.2
21 328 ;
\
Max. R0.4 ‘
o HemgLx1
Max. @S Max. oP

079 | & i E L R 5!

@FA+0.05 SR50

OF/BEA | O
| L
$EL o g
—_— | L
|
i
IOFE ~
Q-Q
EREIE:

X1 HERFLVER AR, BEEEIDSANE.
B EEERNEIREPIER,

X2 LSRR AR EHEREE BN T3 .2SLLT.
X3 MR BB ECERARZEF LA,

NOTE:

X1: Vent hole must be open to the atmosphere, and
attention should be paid to prevent coolant, chip dust
and other intrusions into the cylinder body interior.

2. The maximum surface roughness of the bottom of
the installation hole shall be processed below 3.2S.

%3: The attached O-ring EC should be installed in the
installation hole.

CSP-BLPHEBSTZFI /MU R R LRSI TR IR

B4E Model No CSP-26BLP
A 49
B 57
C 63
D 66
OE 10
OF 24.3
G 84
H 22
J ((EEIFHER) 8
K (ATEEEXIRE) M26X1.5
L (AIEEEXIZIE) M6X1
oM 95
N (EiE8) 8
oP 26
@S 75
a1 245
U 9
QFA 45
FB 15
FC 3
FD 75
OFE 35
OZEIEA (Fi5HEE TEEHs70) S5
OF/EEB (FUSHE TEREHS90) AS568-013
OFEIEC (FISHE IEEHs90) AS568-020
EI=EAI=}

1. FEwREES, SAITIHEEEEREISIETH, BRERIES,
F2RIEEFE, REOLEHE, FHLERMHI0LRE, BRICIIREE
WENREEEAEE, SEEH RS,

2. BFESFHIEEER, AN MREEEFIEREFE.

3. WMROHERIERER, FHLSRIR FNORERE, FrEEER
HEthORBERY, EBRERAALEIHEEHE.

4, BETHREBRTHIERT, FREHKEREETY, SEEITH
WIRFAIRS,

5 SRIERERERE, BUEERE, SAINGENIEENL

6. MRERE LTHREIRR, SENEEEEETHRHRAENRS, I
FEEEEMERARE, MESERETHHEERESTAEE, BT
HEIR, FERBERREEHNGRREEEN RS ERE, LIEE EF
ENEISEIEO.S ~ 1L E, IHERESERET M MREHEEGRERE
BRNER.

7. E(EFRFIESR0.1MPaLATAIFE MR EREER. WRRIRIRT
BhiEs, EiEEEREAEaL.

Unit:mm
CSP-30BLP CSP-36BLP CSP-45BLP
54 48 60
62 58 71
69 65 78
73 69 82
12 15 16
282 342 432
94 95 94
24 30 36
10 13 13
M30X1.5 M36X1.5 M45X1.5
M8X1.25 M10X1.5 M10X1.5
11.5 12,5 12.5
10 11 11
3 3 3
9 9 9
285 345 435
11 13 16
6 7.8 7.8
19 19 1.9
4 4 4
43 5 5
S6 S8 S8
AS568-014 AS568-014 AS568-015
AS568-022 AS568-026 AS568-030
NOTE:

1. Be sure to install the cap. Otherwise, the workpiece wil not be able to
support the workpiece in contact with the spring. When the user makes the
cap, please refer to the Cap Detailed Drawing and set O-ring groove. Please be
sure to use the attached O-ring. Otherwise, foreign bodies such as coolant wil
intrude into the cylinder body and cause abnormal operation and other faullts.
2. The Company does not guarantee the correct action of the piston rod
when the user makes the rising spring by himself.

3. If the O-ring is damaged or lost, please refer to the specifications of O-ring
in the catalogue, and do not change other O-ring sizes arbitrarily. If necessary,
please contact our Company.

4. In the case of light and thin workpiece, please fix the workpiece temporarily
according to the demand, otherwise the workpiece will be jacked up.

5. The retumn of cleaning air pressure will cause the piston rod to be unable to
reset if air is supplied all the time.

6. If the piston rod rising speed is too fast, it will cause the phenomenon of
rebound when the piston rod contacts the workpiece, and damp at the
rebound position, which wil cause the gap or impact between the piston rod
and the workpiece, leading to the damage of the internal parts. Please adjust
the rising speed of the piston rod through one-way flow control valve so that
the rising action time is more than 0.5-1 second, and confirm that there is no
gap and impact between the piston rod and workpiece before putting into use.
7. Please use a flow control valve with a one-way valve under the opening
pressure below 0.1MPa. If the opening pressure of the valve is too high, the
piston rod cannot be reset when released.

PNEUMATIC & HYDRAULIC CLAMPS | 080



CSP-DFECE R

124K

_}Q/ﬁﬂq 300 © _
U ,‘, J 8 — U
= | | |
LM =L
g il Y 777 -
1
L X 12
HRAE X-X
M5x0.8iR5
OA
4-oDiEH,
THOERF DB/ 6
i1
Ly
@ TEEIR:
‘(% X1 AR, TBFETRMHERILENS, B LLRE.
| I l@’ ) NOTE:
‘ X1: When coolant and chips are likely to enter through the vent

e holes, please connect the piping.

| |

=1 @

| ; \ /

hEED PT1/8

CSP-DFHERSTIFHI ACE N SRR IR

Unit:mm
Bl Model No CSP-26DF CSP-30DF CSP-36DF CSP-45DF
A 40 45 51 60
B 29 34 38 47
] 34 39 45 54
@D 45 45 5.5 5.5
QE 8 8 9 9
F 9 9 12 12
2G 54 60 68 80
K(ATBEEXIZIE) M26X1.5 M30X1.5 M36X1.5 M45X1.5
2T 245 28.5 345 435
U 9 11 13 16

081 | R HEHE



	2020版嘉刚气油压缸目录-0316_部分19.pdf
	2020版嘉刚气油压缸目录-0316_部分20.pdf
	2020版嘉刚气油压缸目录-0316_部分21.pdf



